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_ e <. Approximately what
1 There are 60 children at a Christmas Party, of whom 23 are boys. APP
proportion is this? - £ &
. 1 12
A 3 B 1 C 3 °
4~}-+
2 What is the formula for the area of this shape? "4 !
A x° B y? C 4xy o 2
D 3xy E (x+y)° . i
3 Ravi takes the bus from home to school then school to home for five days each week.
Each fare is 57p. What is the total of the fares he pays each week?
A £580 B £570 C £4.70 D £2.85 E £560
-'T B
N 4 350 pupils were asked how they came to school.
The results are displayed in the pie chart.
| How many pupils came to school by car?
A 147 B 42 C 210
D 140 E 150
5 A joiner is building 14 cupboards in a new kitchen. Each cupboard requires 26 screws.
How many screws will be required in total?
A 260 B 380 C 364 D 366 E 370

hine divides by 4 and then multiplies by 5. Which number comes out?
A 23 B 184 C 736

n 110 E 115

R iy

of the diagram has been shaded?

A 70% B 65%
C 60% D 40%
E 30%

x pounds each month in membership fees.
and goes every week in the year.
int Carmel pays each year?




9 The Spience Department is going on a day trip to the National Science Museum.
The trip costs £25 and 43 people are going and have paid the full amount.
How much money has been collected in total?

A £1000 B £1075 C £2150 D £1100 B 21126

10 There are 240 books in the school library. % of the books are fiction. § of the books are non-fiction.
The rest are reference books. How many reference books are in the school library?

A T2 B 96 C 144 D 98 E 94 _"'.’:
11 7 When every space in the grid is filled in, each row and ;"II
: 6 =33 each column adds up to 33. bt

9 13 |- 33 Which number should be in the square with the question mark? 1

r

\

10 =33 A 6 B 9 c 11 D 12 E 13 {

V-ERE T :

33 33 33

12 A computer checks emails and news updates on a regular basis. The computer checks ?
emails every five minutes and news updates every seven minutes.
Neither work when both checks are being done at the same time and this causes an error

_ message on the screen. There is one error message after an hour and three error messages

: after two hours. How many error messages are there after 5 hours?

A 6 B 7 Gla8 D 9 E 10

13 Debbie wants to create her own small flower garden. She goes to the garden centre with her

f- o mum and buys some bulbs. She buys:

?l -3 Sbulbs at£1.20. 4 bulbsat95p. 3bulbsat75p. 6bulbsat50p. 2 bulbs at £1.40.

: How much is her total bill?

‘ - ' A £4.80 B £14.85 C £17.85 D £20.00 E £32.80

14 This table shows the results for Tanvi's favourite netball team.

Year Won Drawn Lost
2012 9 3 1
2013 6 2 5
2014 5 8 0
How mahy matches in total did the team not win? : n
A 19 B 6 G 13 D 20 E 18

15 There are 500 sheets of paper in a ream. How mary sheets of paper are in 6.5 reams?
A 3500 B 3000 C 3150 D 6500 E 3250

Please turn over
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: ors n below is the num)
16 Woodside School did a survey on favourite fruit. Which of the numbers give mber of

Pupils who liked apples best?

Key: ™ ;ands for 6 children
eyl — " etands for fewer than 6 children
Apple N ¥ 2
% i A 6 B 12 Cc 18
poar E 11
Pear ™YY 0
Kiwi l ~
17 : The diagram shows part of a shape and two lines of ,

symmetry. What is the name of the complete shape?
A irregular quadrilateral

irregular hexagon

irregular octagon

irregular decagon

m O O @

regular octagon

A map of the Yorkshire Dales is drawn to a scale of 1:25000. What real distance does 1cm
on the map represent?

A 25km B 0.025km C 0.25km D 250km E 25km

What does the digit 8 in 203081 represent?
A 8 B 80 C 8000 D 800000 E 800

Which container will hold about 0.5 litres when full?
A abath B asink C akettle D a milk bottle E aneggcup i

21 Josh is going on a holiday for a week this August. He has paid a deposit of £50 towards the
total cost of £225. He can afford to save £35 per month towards the total cost. How many
months will it take him to save enough to pay the rest of the money?

A 4 B & C 6 D 7 B8

The perimeter of a rectangle is 22 cm. If the lengths of two sides are both 10 cm, what is the
area of the rectangle?

A 10cm® B 1icn? C 20cm? D 32cm? E 220cm?

T : e ———— :
What are the coordinates of the cross?

| A (22 24)

: B (2.1,25)
C (22,23
D (21,24)
(2.4,2.2)
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Your task is to guide the aeroplane from the
Runway R to GATE 9.

It can only move FORWARD, TURN RIGHT 90°
and TURN LEFT 90°.

Which instructions will guide the plane to the
correct gate?

A FORWARD 3, TURN RIGHT 90°, FORWARD 3, TURN LEFT 90°, FORWARD 2,
TURN RIGHT 90°, FORWARD 1

B FORWARD 3, TURN LEFT 90°, FORWARD 3, TURN RIGHT 90°, FORWARD 2, ﬂ
TURN LEFT 90°, FORWARD 1 ;"

C FORWARD 3, TURN RIGHT 90°, FORWARD 3, TURN RIGHT 90°, FORWARD 2,
TURN RIGHT 90°, FORWARD 1

D FORWARD 3, TURN LEFT 90°, FORWARD 3, TURN LEFT 90°, FORWARD 2,
TURN RIGHT 90°, FORWARD 1

E FORWARD 3, TURN LEFT 90°, FORWARD 3, TURN RIGHT 90°, FORWARD 2,
TURN RIGHT 90°, FORWARD 1

25  MrMcCaskill is 6 feet 3 inches tall. Which is the closest to his height in metres?
A 1.8m B 19m C 20m Des2.4im E-=+2.2im

26 400 g of a 2.2kg bag of muesli is oats. What fraction of the bag is oats?
2 3
A 3 B w% c & D 3 E

Bl

27  What is the perimeter of this shape?
A 2a+2b+2c+2d+ 2

2a +2b + 2c + 2d

2a +b+c+2d +9e

abcde

abed

DR Y

Which of these makes a word when rotated through 180°7
NOZE NOS HOSE ICON TON

Nankunda was x years old six years ago. How old will she be in seven years' time in terms of x?
A x+13 B x+7 C x+6 D x+1 E x—1

quare number and a cube number?
Cc 27 D 36 E 64
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31 Which of these statements is incorrect? —t—
A Line P is parallel to line T Wl
B Line Ris perpendicular to line U.

C LineTis a vertical line.
D Line Sis parallel to line V. 'y
E Line Wis a harizontal line.

32 125 r~h~ﬁ- SRS This shows the number of magazines sold by a
. shop in five days. How many more magazines were
ST e sold on Wednesday than on Monday?
=
% i A 25 B 50
=
? GTS D 100
@

2 ER o5
=
=
Mon Tue Wed Thu Fri
33 Which one of these has the closest value to 1?

A 095 B 94.3% e D 94.29% E 5

These are the temperatures in °C recorded at midday during Susan's two-week holiday.

26 28 27 28 26 25 26
25 27 28 29 31 31 28

What is the modal temperature?

A 28°C B 27°C C 31°C

What are the coordinates of M, N and P?

A M4 2 N (4, ) P (4,7)
M (4, 2) N (6, 4) P(3.7)
M (4, 2) N (7, 4) Pi(7, 3)
M (2, 4) N (6, 4) P(3,7)
M (5, 2) N (6, 3) P(3,7)

D 54:30 E 46:25

time he will be 14. How old is his sister?
D 16 E 5



equilateral triangle. What is the size of angle p?

: A 8 B o C 12or D 2407 E 1O

mesidmdboﬁns!mesaremesmwelengm
How many times will the smaller shape ft into the
VAN larger shape?

A 24 B 18 C 20 D 26 E 22

a1 TreoostdislzﬁgaMmmsbemmwmmequmsm&m.
How much is it now?

A £2210 B £23.10 C £2450 D £1925 E £1540

42  There are 432 seats available for a musical. 26 seats are complimentary to the staff and the
press. 217 are sold in advance to family and fnends of the cast and backstage crew. The rest of the
tickets are available to the general public. How many are available to the general public?

A 217 B 215 C 191 D 189

D 70% E 80%

o wait for her school bus in one week.
r sday - Thursday | Friday




45 A
|
| E ﬂ
Which of these solids has an even number of edges and an odd number of faces?
46  The coordinates of the end points of five il L e e Sl kS
lines are given below. Which line is I ?_L T 1 1/
perpendicular to the line in the diagram? = B i ]L o
A (2; 1) aﬂd (3, 4) B (1' 4) and (4' 4) — 5 ]
2 — = i
C (1, 1) and (4, 4) D (1, 4) and 4, 1) il 7/‘_ = j
E (1,2)and 3, 1) 14 NN
: 1 .
0 1 2 3 4
47  Athermometer shows the temperature at midday and midnight outside the school office. Ij
On Wednesday it showed the following: :
‘ Midday 8°C
Midnight -3°C
T , What is the difference between these two temperatures in degrees Celsius?
y A 5°C B 3°C C 8C D 12°C E 119G

s 48 Rulers cost the same as erasers, Four of the follo

wing cost the same. Which does not cost
i3 the same as the rest?

A two rulers, three erasers

one eraser, one ruler, six pencils
two erasers, two rulers, two pencils
two rulers, two erasers, four pencils

s o e LB

m o O W

three erasers, one ruler, two pencils

49 Which number has the value closest to 77
A 7.001 B 6.989 C 7101 D 6.99

50 This bar chart shows the times of goals
scored in school football matches in
one season. How many goals were

scored after more than 45 minutes '§
had passed? e
A7 B 16 g

S = =
C 15 D ESs =

E=g

0-15 16-30 3145 4660 61-75 76-90
Time in complete minutes



